

Research Article

A note on some classes of series for the logarithmic function

Necdet Batır*

Department of Mathematics, Nevşehir Hacı Bektaş Veli University, Nevşehir, Turkey

(Received: 10 June 2024. Received in revised form: 1 July 2024. Accepted: 2 July 2024. Published online: 3 July 2024.)

© 2024 the author. This is an open-access article under the CC BY (International 4.0) license (www.creativecommons.org/licenses/by/4.0/).**Abstract**

A different and technical proof for a series representation of $\log s$ is provided. The mentioned series representation was used to reproduce some Bailey-Borwein-Plouffe (BBP) type formulas for a variety of numbers, including some classical BBP type formulas for π . A series representation, similar to that of $\log s$, for $\log^2(s)$ is also derived.

Keywords: iterated integrals; Bailey-Borwein-Plouffe formula; harmonic numbers.

2020 Mathematics Subject Classification: 26A09, 11A25.

1. Introduction

In [2], the authors defined the iterated primitives of the function $f(s) = \frac{1}{s}$ by $I_0(s) = \frac{1}{s}$ and

$$I_{n+1}(s) = \int_1^s I_n(u) du = \int_1^s \int_1^{u_n} \cdots \int_1^{u_0} \frac{1}{u_0} du_0 du_1 \cdots du_{n-1} du_n \quad (1)$$

for $n \geq 1$. They called $I_n(s)$ the Laplacian-Hadamard regularization or the Laplace-Hadamard transform of $\frac{1}{t^n}$. They also proved that

$$I_n(s) = A_n(s) \log s + B_n(s), \quad (2)$$

where

$$A_n(s) = \frac{s^{n-1}}{(n-1)!},$$

$$B_n(s) = -\frac{1}{(n-1)!} \sum_{k=1}^{n-1} \binom{n-1}{k} (H_{n-1} - H_{n-1-k})(s-1)^k, \quad (3)$$

and $H_n = 1 + \frac{1}{2} + \frac{1}{3} + \cdots + \frac{1}{n}$, which is the n -th harmonic number. By applying (1) and the Taylor series expansion of the function $\log s$ at $s = 1$, they derived for $|s-1| < 1$ or $|s-1| = 1$ and $n \geq 2$ the following identity:

$$I_n(s) = \frac{(-1)^n}{n!} \sum_{j=0}^{\infty} \frac{(1-s)^{j+n}}{\binom{n+j}{j}}. \quad (4)$$

By combining (2) and (4), the authors in [2] derived the following series representation for $\log s$:

$$\log s = -\frac{(n-1)!}{s^{n-1}} B_n(s) + (-1)^n \frac{1}{ns^{n-1}} \sum_{j=0}^{\infty} \frac{(1-s)^{j+n}}{\binom{n+j}{j}}, \quad (5)$$

where $B_n(s)$ is as given in (3). By substituting particular values of s in (5) and considering real and imaginary parts separately, they obtained Bailey-Borwein-Plouffe (BBP) type formulas for a variety of numbers, including the following classical BBP type series for π :

$$\pi = \sum_{k=0}^{\infty} \frac{1}{16^k} \left(\frac{4}{8k+1} - \frac{2}{8k+4} - \frac{1}{8k+5} - \frac{1}{8k+6} \right) \quad (\text{the BBP formula, see [1]}),$$

and

$$\pi = \frac{1}{64} \sum_{k=0}^{\infty} \frac{(-1)^k}{2^{10k}} \left(-\frac{32}{4k+1} - \frac{1}{4k+3} + \frac{256}{10k+1} - \frac{64}{10k+3} - \frac{4}{10k+5} - \frac{4}{10k+7} + \frac{1}{10k+9} \right) \quad (\text{see [9]}).$$

*E-mail address: nbatir@hotmail.com

For an elementary approach to BBP type formulas for π , the reader is referred to the recent paper [11], and for some related results, the reader is referred to [12].

This article provides a completely different and novel proof for (5). A new series representation of type (5) for $\log^2(s)$ is also offered. The proofs are primarily based on the binomial theorem.

2. Preliminaries

For our purpose, we recall the following definitions and basic properties of some special functions and special numbers. The gamma function is defined by $\Gamma(z) = \int_0^\infty u^{z-1} e^{-u} du$ ($z > 0$). The psi function or the digamma function, denoted by $\psi(x)$, is given by $\psi(z) = \frac{\Gamma'(z)}{\Gamma(z)}$. The polygamma function $\psi^{(n)}$ is defined by

$$\psi^{(n)}(z) = \frac{d^n}{dz^n} \log(\Gamma(z)) = \frac{d^n}{dz^n} \psi(z), \quad n \geq 0, z \in \mathbb{C} \setminus \mathbb{Z}_{\leq 0}.$$

The harmonic numbers of order ℓ are known in the literature to be

$$H_n^{(\ell)} = \sum_{k=1}^n \frac{1}{k^\ell}.$$

When $\ell = 1$, they reduce to the classical harmonic numbers

$$H_n = \sum_{k=1}^n \frac{1}{k}.$$

Throughout this article, $\mathbb{Z}_{\leq \ell}$ ($\mathbb{Z}_{\geq \ell}$) denotes the set of integers less than or equal to (greater than or equal to) some ℓ belonging to \mathbb{Z} . The following relation between the harmonic numbers and the digamma function is valid:

$$\psi(n + 1) = \gamma + H_n, \tag{6}$$

for $n \in \mathbb{Z}_{\geq 0}$, where $\gamma = \lim_{n \rightarrow \infty} (H_n - \log n) = 0.57721 \dots$ is the Euler-Mascheroni constant, and

$$H_n^{(m+1)} = \zeta(m + 1) + \frac{(-1)^m}{m!} \psi^{(m)}(n + 1)$$

(see [13, Section 1.2]). A generalized binomial coefficient $\binom{s}{t}$ is given, in terms of the gamma function, by

$$\binom{s}{t} = \frac{\Gamma(s + t)}{\Gamma(t + 1)\Gamma(s - t + 1)} \quad (s, t \in \mathbb{C}). \tag{7}$$

Taking into account that $\frac{1}{\Gamma(k)} = 0$ for $k \in \mathbb{Z}_{\leq 0}$, it is clear from this definition that

$$\binom{n}{k} = \begin{cases} \frac{n!}{k!(n - k)!} & \text{if } n \geq k \\ 0 & \text{if } k > n, \end{cases} \tag{8}$$

for $n, k \in \mathbb{Z}_{\geq 0}$. We now present a series of lemmas, which are used in the next section to prove the main results. Throughout this article, we employ the usual convention that an empty sum is taken to be zero.

Lemma 2.1. *If $k \in \mathbb{Z}_{\geq 0}$, then*

$$\lim_{x \rightarrow -k} \frac{\psi(x)}{\Gamma(x)} = (-1)^{k-1} k! \quad \text{and} \tag{9}$$

$$\lim_{x \rightarrow -k} \frac{\psi^2(x) - \psi'(x)}{\Gamma(x)} = 2(-1)^{k-1} k! \psi(k + 1). \tag{10}$$

Proof. The proof can be found in [6, Lemma 1] (see also [7]). □

Lemma 2.2. *If n is a non-negative integer, then*

$$\sum_{k=n+1}^\infty (-1)^k \binom{n}{k} \psi(n - k + 1) t^k = (-1)^n \sum_{k=1}^\infty \frac{t^{n+k}}{k \binom{n+k}{k}} \quad \text{and} \tag{11}$$

$$\sum_{k=n+1}^\infty (-1)^k \binom{n}{k} (\psi^2(n - k + 1) - \psi'(n - k + 1)) t^k = 2(-1)^n \sum_{k=1}^\infty \frac{\psi(k) t^{n+k}}{k \binom{n+k}{k}}. \tag{12}$$

Proof. By making the substitution $n - k - 1 = k'$ and utilizing (9), one has

$$\begin{aligned} \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \psi(n - k + 1) t^k &= \sum_{k=0}^{\infty} (-1)^{n+k+1} \frac{n!}{(n + k + 1)!} \frac{\psi(-k)}{\Gamma(-k)} t^{n+k+1} \\ &= \sum_{k=0}^{\infty} (-1)^{n+k+1} \frac{n!}{(n + k + 1)!} \lim_{u \rightarrow -k} \frac{\psi(u)}{\Gamma(u)} t^{n+k+1} \\ &= \sum_{k=0}^{\infty} (-1)^{n+k+1} \frac{n!}{(n + k + 1)!} (-1)^{k-1} k! t^{n+k+1} \\ &= (-1)^n \sum_{k=1}^{\infty} \frac{t^{n+k}}{k \binom{n+k}{k}}, \end{aligned}$$

which proves (11). By employing (10), the identity (12) can be proved in the same way as used in the proof of (11). □

Lemma 2.3. *The following identities hold:*

$$\Gamma(z) \Gamma(1 - z) = \frac{\pi}{\sin(\pi z)} \quad (z \in \mathbb{C} \setminus \mathbb{Z}); \tag{13}$$

$$\psi(z + 1) = \psi(z) + \frac{1}{z}; \tag{14}$$

$$\frac{\Gamma(z + \alpha)}{\Gamma(z + \beta)} = O(z^{\alpha-\beta}) \quad (|z| \rightarrow \infty, |\arg z| < \pi); \tag{15}$$

$$\psi(z) = \log z + O\left(\frac{1}{z}\right) \quad (|z| \rightarrow \infty, |\arg z| < \pi); \tag{16}$$

Proof. All the identities presented in this lemma are well known in the field (for example, see [7]). □

3. Main results

Theorem 3.1. *Let $n \in \mathbb{N}$. For $|s - 1| < 1$ or $|s - 1| = 1$ and $n \geq 2$, the following identity holds:*

$$\log s = -\frac{(n - 1)!}{s^{n-1}} B_n(s) + \frac{(-1)^n}{n s^{n-1}} \sum_{j=0}^{\infty} \frac{(1 - s)^{j+n}}{\binom{n+j}{j}}, \tag{17}$$

where $B_n(s)$ is same as given in (3).

Proof. By the general binomial theorem, for $t \in (-1, 1)$ and $x \in \mathbb{C} \setminus \mathbb{Z}_{\leq 0}$, we have

$$\sum_{k=0}^{\infty} (-1)^k \binom{x}{k} t^k = (1 - t)^x. \tag{18}$$

We differentiate both sides of this equation with respect to the variable x . This gives

$$\sum_{k=0}^{\infty} (-1)^k \binom{x}{k} [\psi(x + 1) - \psi(x - k + 1)] t^k = (1 - t)^x \log(1 - t). \tag{19}$$

In order to justify termwise differentiation of the left-hand side of (18), it suffices to show that the left-hand side of (19) converges uniformly for $x > 1$ (see, e.g., [14, p. 231, Theorem 7.14]; see also [10, p. 53, Theorem 2.25]). In terms of convergence, it is enough to show that the case $r = 1$:

$$\sum_{k=0}^{\infty} \binom{x}{k}^2 |\psi(x + 1) - \psi(x - k + 1)| \tag{20}$$

converges uniformly on $x \in (1, M]$ for any fixed $M > 1$. By using (13), we find

$$\binom{x}{k} = \frac{(-1)^{k-1}}{\pi} \sin(\pi x) \Gamma(x + 1) \frac{\Gamma(k - x)}{\Gamma(k + 1)},$$

which, upon employing (15), gives

$$\binom{x}{k} = O(k^{-x-1}) \quad (k \rightarrow \infty; x \in (1, M]). \tag{21}$$

By using (14) and (16), we find

$$\psi(x - k + 1) = \psi(x - k) + \frac{1}{x - k} = O(\log(x - k)) = O(\log k) = O(k) \quad (k \rightarrow \infty),$$

which leads to

$$\psi(x + 1) - \psi(x - k + 1) = O(k) \quad (k \rightarrow \infty, x \in (1, M]). \tag{22}$$

By combining (21) and (22), we find

$$\binom{x}{k} |\psi(x + 1) - \psi(x - k + 1)| = O(k^{-x-1}) \quad (k \rightarrow \infty, x \in (1, M]).$$

Therefore, the series in (20) converges uniformly on $x \in (1, M]$ for any fixed $M > 1$ when $-x < -1 \Leftrightarrow x > 1$. Let n be a positive integer. Replacing x by n in (19), we get

$$\sum_{k=0}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k = (1 - t)^n \log(1 - t). \tag{23}$$

We split the following summation into two parts. This leads to

$$\begin{aligned} \sum_{k=0}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k &= \sum_{k=0}^n (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k \\ &+ \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k. \end{aligned} \tag{24}$$

By utilizing (6), we get

$$\sum_{k=0}^n (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k = \sum_{k=0}^n (-1)^k \binom{n}{k} (H_n - H_{n-k}) t^k. \tag{25}$$

On the other hand, we have

$$\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k = \psi(n + 1) \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} t^k - \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \psi(n - k + 1) t^k.$$

By using (8), we have

$$\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} t^k = 0.$$

Thus, by (11), we have

$$\begin{aligned} \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k &= - \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \psi(n - k + 1) t^k \\ &= (-1)^{n-1} \sum_{k=0}^{\infty} \frac{t^{n+k+1}}{(n+k+1) \binom{n+k}{k}}. \end{aligned}$$

Applying the relation

$$(n+k+1) \binom{n+k}{k} = (k+1) \binom{n+k+1}{k+1},$$

and then making the replacement $k \rightarrow k - 1$ gives

$$\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} [\psi(n + 1) - \psi(n - k + 1)] t^k = (-1)^{n-1} \sum_{k=1}^{\infty} \frac{t^{n+k}}{k \binom{n+k}{k}}. \tag{26}$$

By combining (23), (24), (25), and (26), we have

$$(1 - t)^n \log(1 - t) = \sum_{k=0}^n (-1)^k \binom{n}{k} [H_n - H_{n-k}] t^k + (-1)^{n-1} \sum_{k=1}^{\infty} \frac{t^{n+k}}{k \binom{n+k}{k}}. \tag{27}$$

Differentiating both sides of (27) with respect to t yields

$$-n(1 - t)^{n-1} \log(1 - t) - (1 - t)^{n-1} = \sum_{k=1}^n (-1)^k k \binom{n}{k} [H_n - H_{n-k}] t^{k-1} + (-1)^{n-1} \sum_{k=1}^{\infty} \frac{(n+k)t^{n+k-1}}{k \binom{n+k}{k}}. \tag{28}$$

Since

$$k \binom{n}{k} = n \binom{n-1}{k-1} \quad \text{and} \quad \frac{n+k}{k \binom{n+k}{k}} = \frac{1}{\binom{n+k-1}{k-1}},$$

we conclude from (28) that

$$-n(1-t)^{n-1} \log(1-t) - (1-t)^{n-1} = n \sum_{k=1}^n (-1)^k \binom{n-1}{k-1} [H_n - H_{n-k}] t^{k-1} + (-1)^{n-1} \sum_{k=1}^{\infty} \frac{t^{n+k-1}}{\binom{n+k-1}{k-1}}.$$

By setting $t = 1 - s$ and making the substitution $k \rightarrow k + 1$ (and after a short computation), we have

$$\log s = -\frac{1}{n} + \frac{1}{s^{n-1}} \sum_{k=0}^{n-1} \binom{n-1}{k} [H_n - H_{n-k-1}] (s-1)^k + \frac{(-1)^n}{ns^{n-1}} \sum_{k=0}^{\infty} \frac{(1-s)^{n+k}}{\binom{n+k}{k}}.$$

Now, the desired result is obtained by using the simple relation $H_n = H_{n-1} + \frac{1}{n}$. □

Remark 3.1. By setting $t = 1 - s$ in (27), we get the following elegant alternative representation for $\log s$:

$$\log s = \frac{1}{s^n} \sum_{k=1}^n \binom{n}{k} [H_n - H_{n-k}] (s-1)^k - \frac{(-1)^n}{s^n} \sum_{k=1}^{\infty} \frac{(1-s)^{n+k}}{k \binom{n+k}{k}}. \tag{29}$$

Theorem 3.2. Let $n \in \mathbb{N}$. For $|s-1| < 1$ or $|s-1| = 1$ and $n \geq 1$, the following identity holds:

$$\log^2(s) = 2 \sum_{k=1}^n \frac{H_{k-1}}{k} \left(1 - \frac{1}{s}\right)^k - \frac{2(-1)^n}{s^n} \sum_{k=1}^{\infty} \frac{H_{k-1} - H_n}{k \binom{n+k}{k}} (1-s)^{n+k}. \tag{30}$$

Proof. Differentiating both sides of (18) with respect to x twice yields

$$(1-t)^x \log^2(1-t) = \sum_{k=0}^{\infty} (-1)^k \binom{x}{k} [(\psi(x+1) - \psi(x-k+1))^2 + \psi'(x+1) - \psi'(x-k+1)] t^k.$$

We set $x = n$ here and then split the resultant summation into two parts. This gives

$$\begin{aligned} (1-t)^n \log^2(1-t) &= \sum_{k=0}^n (-1)^k \binom{n}{k} \{(\psi(n+1) - \psi(n-k+1))^2 + \psi'(n+1) - \psi'(n-k+1)\} t^k \\ &\quad + \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \{(\psi(n+1) - \psi(n-k+1))^2 + \psi'(n+1) - \psi'(n-k+1)\} t^k. \end{aligned} \tag{31}$$

In view of (6), we have

$$\begin{aligned} \sum_{k=0}^n (-1)^k \binom{n}{k} \{(\psi(n+1) - \psi(n-k+1))^2 + \psi'(n+1) - \psi'(n-k+1)\} t^k \\ = \sum_{k=0}^n (-1)^k \binom{n}{k} [(H_n - H_{n-k})^2 + H_n^{(2)} - H_n^{(2)}] t^k \end{aligned} \tag{32}$$

We make use of the formula

$$\sum_{k=0}^n (-1)^k \binom{n}{k} \{(H_n - H_{n-k})^2 + H_n^{(2)} - H_n^{(2)}\} t^k = 2(1-t)^n \sum_{k=1}^n \frac{H_{k-1}}{k(1-\frac{1}{t})^k},$$

which is proved in [3, Eq. (40)]. Using this formula in (32), we arrive at

$$\sum_{k=0}^n (-1)^k \binom{n}{k} [(\psi(n+1) - \psi(n-k+1))^2 + \psi'(n+1) - \psi'(n-k+1)] t^k = 2(1-t)^n \sum_{k=1}^n \frac{H_{k-1}}{k(1-\frac{1}{t})^k}. \tag{33}$$

Since $\binom{n}{k} = 0$ for $k > n$, we have

$$\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} t^k = 0.$$

Thus,

$$\begin{aligned} & \sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \{(\psi(n+1) - \psi(n-k+1))^2 + \psi'(n+1) - \psi'(n-k+1)\} t^k \\ &= -2\psi(n+1) \underbrace{\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} \psi(n-k+1) t^k}_A + \underbrace{\sum_{k=n+1}^{\infty} (-1)^k \binom{n}{k} [\psi^2(n-k+1) - \psi'(n-k+1)] t^k}_B. \end{aligned} \tag{34}$$

By setting $k - n - 1 = k'$ and then removing the prime from k' , and then with the aid of (9), we have

$$\begin{aligned} A &= \sum_{k=0}^{\infty} \frac{(-1)^{n+k+1} n!}{(n+k+1)! \Gamma(-k)} t^{n+k+1} = \sum_{k=0}^{\infty} \frac{(-1)^{n+k+1} n!}{(n+k+1)!} \lim_{u \rightarrow -k} \frac{\psi(u)}{\Gamma(u)} t^{n+k+1} \\ &= (-1)^n \sum_{k=0}^{\infty} \frac{t^{n+k+1}}{(n+k+1) \binom{n+k}{k}} \\ &= (-1)^n \sum_{k=1}^{\infty} \frac{t^{n+k}}{k \binom{n+k}{k}}. \end{aligned} \tag{35}$$

Similarly, from (10), it follows that

$$\begin{aligned} B &= \sum_{k=n+1}^{\infty} \frac{(-1)^k n!}{(n+k+1)!} \frac{\psi^2(n-k+1) - \psi'(n-k+1)}{\Gamma(n-k+1)} \\ &= \sum_{k=0}^{\infty} \frac{(-1)^{n+k+1} n!}{(n+k+1)!} \lim_{u \rightarrow -k} \frac{\psi^2(u) - \psi'(u)}{\Gamma(u)} t^{n+k+1} \\ &= (-1)^n \sum_{k=0}^{\infty} \frac{\psi(k)}{k \binom{n+k}{k}} t^{n+k}. \end{aligned} \tag{36}$$

From (31), (33), (34), (35), and (36), the required identity follows. □

Remark 3.2. Note that the starting point of the proofs of the main results (of this article) is the binomial theorem. This once again shows how important the binomial theorem is in mathematics. These results are interesting as they establish a link between the binomial theorem and the BBP type series. The approach used in this article enables one to establish formulas of type (29) and (30) for higher powers of $\log s$. Many finite sums of the type of (3) can be found in [4, 8]. Many series similar to those given in Theorem 3.1 and Theorem 3.2 can be found in [5].

References

- [1] D. H. Bailey, P. B. Borwein, S. Plouffe, On the rapid computation of various polylogarithmic constants, *Math. Comp.* **66** (1997) 903–913.
- [2] D. Barsky, V. Muñoz, R. Pérez-Marco, On the genesis of BBP formulas, *Acta Arith.* **198** (2021) 401–426.
- [3] N. Batır, Combinatorial identities involving harmonic numbers, *Integers* **20** (2020) #A25.
- [4] N. Batır, Finite binomial sum identities with harmonic numbers, *J. Integer Seq.* **24** (2021) #21.4.3.
- [5] N. Batır, Parametric binomial sums involving harmonic numbers, *Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Mat. RACSAM* **115** (2021) #91.
- [6] N. Batır, J. Choi, Certain logarithmic integrals and associated Euler sums, *J. Math. Anal. Appl.* **538** (2024) #128365.
- [7] N. Batır, J. Choi, Four types of variant Euler harmonic sums, *Appl. Anal. Discrete Math.*, In press, DOI: 10.2298/AADM200411021B.
- [8] N. Batır, A. Sofó, A unified treatment of certain classes of combinatorial identities, *J. Integer Seq.* **24** (2021) #21.3.2
- [9] F. Bellard, *Pi Formulas, Algorithms and Computations*, Available at <https://web.archive.org/web/20240519231115/https://bellard.org/pi/>.
- [10] G. B. Folland, *Real Analysis: Modern Techniques and Their Applications*, John Wiley & Sons, New York, 1984.
- [11] S. Kristensen, O. Mathiasen, BBP-type formulas – An elementary approach, *J. Number Theory* **244** (2023) 251–263.
- [12] L. A. Medina, V. H. Moll, E. S. Rowland, Iterated primitive of logarithmic function, *Int. J. Number Theory* **7** (2011) 623–634.
- [13] H. M. Srivastava, J. Choi, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier, Amsterdam, 2012.
- [14] W. R. Wade, *An Introduction to Analysis*, Pearson, Hoboken, 2010.